
각도 조절 및 회전형 벽걸이 지지대 사용설명서
WMN4270S

각도 조절 및 회전형 벽걸이 지지대 사용설명서
WMN4270S

	 Components
	 Please make sure to use the components and parts supplied with the product.

	 Safety precautions
	 Make sure that an installation engineer specified by your dealer installs the product.

1.	 Do not let children play underneath the product when it is installed. Children may hit their heads against the edge of the product.

2.	 Take care when you adjust the angle or rotate the product because the back of the product may make contact with the wall.
	 (You can prevent damage to the product and the wall by attaching sponges to the 4 edges of the product.)

3.	 Do not install the product in a hot, humid location or on a weak wall that is unable to sustain the weight of the product.

4.	 Do not insert your hand into the groove at the bottom of the TV while installing the TV onto the wall mount as this may result in an electric shock.

5.	 Make sure to cover the groove at the bottom of the TV that becomes visible after removing the stand using the separate cover supplied with the TV.

	 Finished wall mount

Adjustable Wall Mount User Guide
WMN4070S

Parts

Screws ⓑ: 4 EA Washers 
: 4 EAM8X23 M6X15 M8X27 M8X15

Screws ⓐ: 7 EA Anchors: 7 EA

Cable tie: 1 EAAssembly tool

Adjustable mount

1 EA

Make sure that an installation engineer specified by your 
dealer moves or replaces the product after the installation.

Do not hang onto the installed product and avoid 
impacts to the product.

Wall Mount-WMN4070S-05.indb   1 2012-12-18   �� 11:23:51



Fix the adjustable mount onto the wall with anchors and 	
screws ⓐ from ① to ⑦ in this order. (Moving the adjustable 
mount while fastening the screws onto the wall makes it 
easier to fasten the screws.)
If you cannot fasten the anchors and screws at the specified 	
positions, fasten them at the nearest possible positions.

	 Installing the wall mount

1	 Fix the adjustable mount onto the wall as shown by the figure.

 �When you drill a hole in the wall, make sure to use a drill 
bit with the specified diameter. 	
Failing to do so may result in a safety issue.

2	 Remove the screws from the back of the TV and fasten the 4 screws ⓑ onto the back of the TV with the enclosed assembly tool 
until each of the screws projects out by 5mm. To hang the TV onto the adjustable mount, a projected part of at least 5 mm is 
necessary. (The installation method and screws ⓑ for the installation may differ depending on the TV model. To ensure a proper 
installation, refer to the attached table.)

 If the fastening holes on the back of the TV are ‘convex-type fastening holes’, fasten the screws using the Holder-Ring supplied with the TV.

	 Hang the TV onto the wall mount and make sure to check if the TV has been installed properly onto the wall mount by 
observing the assembled TV as you move the wall mount from left to right.

	 Take care not to hurt your fingers when you install the TV or adjust the wall mount.

	 Make sure to fix the wall mount onto the wall firmly. If the TV falls, it may result in injury or damage to the product.

	 �Check the strength of the wall, and if the wall is insufficiently strong, reinforce the wall before installing the product on the wall.

	 The screws and anchors supplied with the product are to fix the product onto wood or concrete.

	 Check the material of the wall and use appropriate fixing screws depending on the type of material such as plaster board, 
marble or iron plate.

TV

TV

23 65

4 7

1

Enclosed 	
Holder Ring

Flat-type fastening hole

Convex-type fastening hole

Fixing the anchors and screws ⓐ

Drill a hole using a 6X50 drill bit.
(WMN-2370: 4X25)

Clean the inside of the hole.

Insert the enclosed anchor into the hole.

Align the adjustable mount with the hole 	
and fasten the screw ⓐ.

Wall Mount-WMN4070S-05.indb   2 2012-12-18   �� 11:23:53



3	 Pull the wall mount brackets as far forward as possible and hang the TV onto the wall mount at the specified positions as 
shown by the figure while 2 persons are holding the TV.

4	 Tie the power cord and the other cables with the enclosed cable tie as shown by the figure and make sure that the cables do 
not come loose when the wall mount is adjusted.

  �After connecting the cables and pulling the adjustable mount as far forward as possible, arrange the cables using the cable 
tie that has been passed through the specified hole in the adjustable mount as shown by the figure. 	
The cable will then not interfere with the wall mount.	
Check the operation 2 or 3 times and if there is no problem, fix the wall molding.

	 After fixing the TV onto the wall mount, firmly fasten the 4 screws ⓑ so that the TV and the 
wall mount are completely fastened. 

	 (Fastening force: 10 ~ 15 Kg)

WMN4070S

Wall Mount-WMN4070S-05.indb   3 2012-12-18   �� 11:23:53



Adjust the angle of the product carefully. Using excessive force 
may result in the product hitting the wall and becoming damaged.
Adjust the horizontal angle by holding both sides of the product. 
When you adjust the vertical angle, hold the top center of the 
product. Then you can smoothly adjust the angle.

	 Adjusting the wall mount angle
	 This product has adopted a Smooth Moving Mechanism so that it always moves very smoothly.

  �You can adjust the angle up to -10° ~ 10° horizontally and 
up to -20° ~ 20° vertically. The allowed adjustable angle 
may differ depending on the model.

[ Main Body Fixing Part ] [ Screw Fixing Part ]

	 Product specifications

Width (mm) 248

Height (mm) 255

Depth (mm) 30

Weight (Kg) 2.4

Wall mount VESA specifications 200 X 200

	 Specifications

	 �The product appearance and specifications are subject to change for product improvement purposes without 
prior notice.

248
200

150
210

248
197.4 30

20
0

13
4

16
0

25
5

-10°~10°

-10°~10°

-20°~20°

-20°~20°

Wall Mount-WMN4070S-05.indb   4 2012-12-18   �� 11:23:53



	구성품

	벽걸이 설치 시 반드시 제공되는 구성품 및 부품을 사용하여 주세요.

	안전을 위한 주의사항

	제품 설치는 반드시 판매점에서 지정한 전문 설치업자에게 의뢰해 주세요.

1.	 제품 아래에서 아이가 놀지 못하게 하세요. 모서리에 머리가 부딪칠 수 있습니다.

2.	 각도 조절을 하거나 회전시에 제품의 뒷면이 벽과 부딪칠 수 있으니 주의하세요.

	 (모서리 4곳에 스폰지 등을 부착하면 벽과 제품이 상하는 것을 방지할 수 있습니다.)

3.	 고온 다습한 곳이나 제품의 무게를 견디지 못하는 벽에는 설치하지 마세요.

4.	 감전의 위험이 있으므로 벽걸이 설치 중에 TV 제품 하단의 스탠드 분리 홈에 절대 손을 넣지 마세요.

5.	 TV 제품의 스탠드가 분리된 홈은 TV 제품에 있는 별도의 덮개를 반드시 막고 벽걸이 설치 작업을 완료하여 주세요.

	벽걸이 완제품

각도 조절 및 회전형 벽걸이 지지대 사용설명서

WMN4070S

부속품

나사ⓑ : 4개 와셔 

: 4개M8X23 M6X15 M8X27 M8X15

나사ⓐ : 7개 앵커 : 7개

와이어 고정 부품 : 1개조립 공구

각도 조절 장치

1개

설치 후 제품을 이동하거나 교체시에는 반드시 	

판매점에서 지정한 전문 설치업자에게 문의하세요.

설치 후 매달리거나 심한 충격을 주지 마세요.

Wall Mount-WMN4070S-05.indb   1 2012-12-18   �� 11:23:54



각도 조절 장치를 앵커와 나사ⓐ로 그림과 같이 ①번에서 	

⑦번까지 순서대로 고정 시키세요. 

(벽면 고정을 위하여 각도 조절 장치의 회전 부위를 좌우로 

돌려서 작업하시면 편리합니다.)

불가피하게 지정된 위치에 고정하지 못할 경우에는 가장 	

인접한 곳으로 이동하여 고정하세요.

	벽걸이 설치 방법

1	각도 조절 장치를 그림과 같이 벽면에 고정 하십시오.

 �벽에 구멍을 뚫을 때에는 반드시 지정된 직경의 드릴 

비트 및 드릴을 사용하세요. 지정되지 않은 방법으로 	

설치할 경우에는 안전상의 문제가 발생될 수 있습니다.

	벽의 강도를 확인한 후에 강도가 충분하지 못한 곳은 반드시 적절한 보강 작업을 한 뒤에 설치하세요.

	동봉된 나사와 앵커는 목재와 콘크리트 체결용 입니다.

	벽을 확인하여 석고보드, 대리석, 철판 등에는 적절한 전용 체결 나사를 사용하세요.

2	TV 본체의 나사를 제거한 후에, 동봉된 조립 공구로 나사ⓑ 4개를 그림과 같이 TV 뒷면에 5 mm 정도만 남기고 조여주세요. 
	 각도 조절 장치에 걸기 위하여 5 mm 정도의 공간이 필요합니다.

	 (TV 모델별 조립방법과 사용되는 나사ⓑ의 종류가 다를 수 있습니다. 정확한 조립을 위해 첨부된 표를 참고하세요.)

 TV 본체 뒷면이 ‘오목형 체결 홀’일 경우, TV에 동봉된 Holder-Ring 사출물을 이용하여 조립하시기 바랍니다.

	본체를 벽걸이에 걸은 후에 모두 정확하게 걸렸는지 좌, 우 측면에서 필히 확인하세요.

	설치 및 각도 조절 시 손가락이 끼일 수 있으니 조심하세요.

	벽걸이 브라켓이 벽에 단단하게 고정되어 있지 않으면 본체가 떨어져 다칠 수 있으니 단단하게 고정하세요.

TV

TV

23 65

4 7

1

앵커 및 나사ⓐ 고정 방법

6X50의 드릴로 구멍을 뚫으세요.

(WMN-2370 : 4X25)

뚫은 구멍을 청소하세요.

구멍에 동봉된 앵커를 삽입하세요.

각도 조절 장치를 구멍에 맞추어 	

나사ⓐ를 체결하세요.

동봉된 
Holder-Ring

평면형 체결 홀

오목형 체결 홀

Wall Mount-WMN4070S-05.indb   2 2012-12-18   �� 11:23:55



3	그림과 같이 벽걸이의 브라켓 고정부를 전면으로 최대한 당긴 후에 TV 본체를 반드시 두사람이 들고 벽걸이의 지정 부위에 
걸어 주십시오.

4	전원선 및 기타 주변 기기 연결선의 처리는 동봉된 와이어 고정부품을 사용하여 그림과 같이 묶은 후에 회전 및 작동시에 
이탈되거나 빠지지 않는지 확인해 주시길 바랍니다.

 �케이블을 삽입한 후에 각도 조절 장치를 전면으로 최대한 당긴 후에 와이어를 그림과 같이 각도 조절기의 지정한 구멍을 

이용하여 정형하게 되면 회전시에 연결선과 간섭되지 않습니다. 	

2 ~ 3회 동안 동작 확인 후, 이상이 없을시에는 벽면 몰딩을 고정 바랍니다.

	벽걸이에 TV 본체를 완전히 고정한 후에 조립 공구를 다시 사용하여 나사ⓑ 4개를 완전히 

밀착하도록 단단하게 조여 주세요. 

	 (조임력 : 10 ~ 15 Kg)

WMN4070S

Wall Mount-WMN4070S-05.indb   3 2012-12-18   �� 11:23:56



제품의 각도를 조정할때 너무 강한 힘을 주면 제품이 벽면과 

부딪쳐 손상을 입을수 있으니 주의하세요.

좌우 각도를 조정할 때에는 제품의 양 옆부분을 잡아 주고, 

상하 각도를 조정할 때에는 제품 윗면의 가운데를 잡으면 	

부드럽게 원하는 각도로 조절할 수 있습니다.

	벽걸이 각도 조절 방법

	본 제품은 소비자의 편리성을 위해 SMOOTH MOVING MECHANISM을 도입하여 아주 부드럽게 움직이도록 

설계되어 있습니다.

 �각도 조절은 상/하 방향으로 -10° ~ 10°, 좌/우 방향으로 
-20° ~ 20° 까지 임의로 조절할 수 있습니다. 
모델에 따라 각도 조절 장치의 각도가 상이 할 수 있습니다.

[ 본체 고정부 ] [ 나사 고정부 ]

	제품 사양

폭 (mm) 248

높이 (mm) 255

깊이 (mm) 30

무게 (Kg) 2.4

벽걸이 VESA 규격 200 X 200

	제품 규격

	제품의 외관이나 사양등은 제품의 개량을 위해서, 사전에 예고 없이 변경될 수 있습니다.

248
200

150
210

248
197.4 30

20
0

13
4

16
0

25
5

-10°~10°

-10°~10°

-20°~20°

-20°~20°

Wall Mount-WMN4070S-05.indb   4 2012-12-18   �� 11:23:56


